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Yes....

There is clear analytical evidence  F.w P o~
that ~4-hour storage provides 5

very high capacity credit in Sromo | — s B
summer peaking systems s | | |
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And it gets better

The opportunities increase with solar deployment. So there is
100+ GW of peaking capacity that could be replaced with
relatively shot duration storage
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But...As net load shifts to
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And ultimately multi-day to seasonal storage is

required

Mix of resources providing
firm capacity from NREL
standard scenarios
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The seasonal mismatch problem in 100%
clean energy systems
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Ultimately we still need a lot (hundreds
of GW) of something that basically looks
like a peaking plant
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